Efficiency vs P,

~ 0.5

o
2 0.09

)

c 0.08
o

0.07
0.06
0.05
0.04
0.03
0.02

e

MEFETETIT R TTT EEEE1 11 177 B R T
-
P L ESIE 2 5 8 1 I R,
1l R S s i e PP
- :
£
h'd -*

=

o
iN

=

10 o, el

—=— DQM_MmKFIt_T1origmnar
—e— DQM_mkFit_TTNEW50
—— DOQM_mkFit_TTNEW50-chi2
—— DQM_mkFit_TTNEW50-dpdg

= 0.1
Z0.09
$0.08
£0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Iclency vs

et

Ratio

T T T T [ TTTT [T TTTTTTT[TTIT[TTTT]

0.95

w
|
N
|
N
-
N
w

TP N

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02

.08 |-+

...............................................

....................

.'.!.'.'.'.'.!.'.'.'.'.!.'.'.'.'.|.'.'.'.'.|.'.'.'.'{.'.'.'.'{.'.'.'.'{.'.'.'.'

1.0

Ratio

||'-||||

TP @



	Contents
	Page 1


